=
7
—— &
[/:—:/

\

\

\

\\\

\\\
\
\

T \
i

\\\
-

\

.

A\

N

\

7

~

_

.

!J

\
N
QA

\

//

.

\

| A\

— \\\
N

f N SRR

\

A\

~

\

N\

\
Q
\
N
S
N

N

S
1

(2

_

\
N\
W
A

N\
\
N
A

\

.

O

N

%ﬁy//

.

\

_

v

-

Y

32%%%

\

\

N\

.
\

N

A\

_____________________

\)
\
N
N\

\

5
\

ND

\

\

N
\
\\§
A

%///'

PLANTA 3 e:1 100

armen Lopez Cuesta-PFC.TA

TS

]
N[}
[ ]
[ T[]
[ [ ]
_____________________________ S
_

L T T T T T T T T T T T T T T[]
L T T I T T T T T T T T T [T [/

L T T T T T T T T T T T T T[T[T]

N T T T T T T T T T T T [ T 1 [1]]

| N I A

O N N 1

T T T T T T T T T T T T T T[T\

[T T T T T T T T T T T T T

[ T T T T T T T T T T]1

T T T T T T T T T T T [ T T[]

T T T T T T T T T T T T T T ]

FF—Fad=—F—=F—F=9 [ [ [ [ T |

[ [ T T T T T 1

[ T 17 [ [ T T T T T T T [ [ T ]

N

|
HEQ *

PLANTA BAJA e:1_100

7
P '
‘%?:;ﬁ%%%%gg /




